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Q.5(a)

Q.5(b)

Expand e*i"+ in power of x

If ¥ =tan *(:—:) prove that (a* ~ x%)v,e0 + (2n + Dxv,eq +nln + 1y, =0

Verify the mean value theorem for the function f{x) =— ,x €
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Find the points of inflexion and the intervals of convexity and concavity of the curve

y=e™

Find the radius of curvature at P (1,4) on the rectangular hyperbola with equation

xy=4

Show that the parabola y = —x?4+x+1and x= —}r: + v + 1= 0 have the
same circle of curvature at the point (1, 1)

Show that f(x,y) = = when (x,v) # (0,0)
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=0 when (x,¥) = (0,0)

is continuous at (0, 0)

Find the asymptotes of the curve ¥* +x*y + 2xy* -y +1=10

If w — log(tanx + tany + tanz), then find the value of

- ﬂu,_l_ - ﬂu,_l_ -
(sin2x) I (sin2y) 3y (sin2z)

If fle,y)=(x*+ }F:jtﬂ,ﬂ,—lf
fery (0,0) = £,..(0,0)

when x# 0 and f(ﬂ,}rj=2
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